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The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Paper Code : 501 MCJG DSE-14
[Advertisement and Public Relations]
Group - A
1. Define any five of the following : 2x5=10
‘Sa) Public in PR
(b) Brand image
Ec) Press kit
g._i) Marketing mix
(e) CSR
@ USP
(g) House Joumal
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Group - B

of the following :

2. Write short notes on any three
443=]

(a) SWOT analysis

(b) Surrogate advertising
(c) PRSI

Ld) Propgaganda

(e) Advertorial

Group-C
3. Answer any one of the following : 10x1=10

(a) What is crisis management? Discuss various stages
7 of crisis management in PR. ' 4+6=10

_ (b) What is advertising agency? Discuss the functions
of an advertisement agency. 2+8=10

AW
‘ fRent - =
s 1 e we (3 @8 #Hivl) : RX@=30
(F) TFATATT AR |
(A) TG TG
(s1) 2P 195



( 3 )
(9) =M iy
(8) CSR
(5) USP
(%) =& e
e - 4
2 Tt @& (@ @iRe D) ¢ 8x9=3%3
(¥ SWOT Rz
() AT STTCSIHIRER

(sf) PRSI
(%) =it
(6) SyCSiERERET

= et - o

o (4 (IING I 2ATHT T/ G : yoxy=30

(F) ARB et TS N ARl ? GRS HI0
ctaiEer ffen el aama 49

B+&=00

() Rme e e G R 7RE FrerefE
SCEAGAT I | =0

P.T.O.

G-10/43 - 300



( 4 )
Paper Code : 501 MCJG DSE-1B

[Development Journalism]
| Group - A
1. Define any five of the following : 2%5=10
(a) Social marketing
(b) Media advocacy
(c) Social mobilization
(d) Sustainable Development
(e) Participatory development
(f) Millennium Development Goals
(g) First world
Group - B

2. Write short notes on any three of the following :
. , 4x3=]2

(a) Development Journalism
(b) Under developed countries

(c) HDI

(d) ICT for development

(e) Behaviour Change Communication



(5 )
Group -C
3. Answer any one of the following : 10x1=10

(a) What is ‘Developing nation? Discuss the main
characteristics of a developing nation. 2+8=10

(b) What is rural development? What role should media
play for the development of rural India? 2+8=10
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